CHAPTER 1 - Solutions

Managerial Accounting and the Business Organization
1-2
The emphasis of financial accounting has traditionally been on the historical data presented in the external reports.  Management accounting emphasizes planning and control purposes.

1-7
Three examples of service organizations are banks, insurance companies, and public accounting firms.  Such organizations tend to be labor intensive, have outputs that are difficult to define and measure, and have both inputs and outputs that are difficult or impossible to store.

1-10
A budget is a prediction and guide; a performance report is a tabulation of actual results compared with the budget; and a variance reconciles the differences between budget and actual.

1-11
No.  Management by exception means that management spends more effort on those areas that seem to be out of control and less on areas that are functioning as planned.  This method is an efficient way for managers to decide where to put their time and effort.

1-22
The essence of the just-in-time philosophy is the elimination of waste, accomplished by reducing the time products spend in the production process and trying to eliminate the time spent in processes that do not add value to the product.

1-A2
(15-20 min.)

1.

Budgeted
Actual
Deviations



Amounts
Amounts
or Variances

Room rental
$   150
$   150
$    0


Food
800
1,008
208U


Entertainment
600
600
0


Decorations
     220
     190
    30F


Total
$1,770
$1,948
$178U
2.
Because of the management by exception rule, room rental and entertainment require no explanation.  The actual expenditure for food exceeded the budget by $208.  Of this $208, $150 is explained by attendance of 15 persons more than budgeted (at a budget of $10 per person) and $58 is explained by expenditures above $10 per person.

Actual expenditures for decorations were $30 less than the budget.  If all desired decorations were purchased, the decorations committee should be commended for their savings.

1-B2
(10-15 min.)

1 & 2.  
Budget
Actual
Variance

Sales
$70,000
$69,860
$   140U


Costs:


    Fireworks
  $30,000
$34,000
$4,000U


    Labor
  15,000
13,000
2,000F


    Other
    8,000
   8,020
       20U


Profit
$17,000
$14,840
$2,160U

3.
The cost of fireworks was $4,000 ÷ $30,000 = 13% over budget.  Did fireworks suppliers raise their prices?  Did competition cause retail prices to be lower than expected?  There should be some explanation for the extra cost of fireworks.  Also, the labor cost was $2,000 ÷ $15,000 =13% below budget.  It would be useful to discover why this cost was saved.  Both sales and other costs were very close to budget.
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